CAPT Strand 5: Population Pyramids: The population graphs below show the age structure of populations in France and India for the year 2013.   
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Write your answers to the questions below on a separate page, label each response (a, b and c).   

Compare the two graphs and: 

a) Describe the difference in individuals of reproductive age (15-45). 

b) Describe a difference in birthrate. 

c) Identify one factor that may contribute to the difference in longevity (life span).  

Rubric for Population Graphs

Sample Response:

(a) Reproductive Age:

· There is a higher percentage of individuals of reproductive age in India than in France.

· There is a lower percentage of individuals of reproductive age in France than in India.

· Individuals of reproductive age have a higher survival rate in France than in India.

· Individuals of reproductive age have a lower survival rate in India than in France.

· France’s population is evenly distributed, while India’s population decreases as age goes up.

· Other acceptable responses

(b) Birthrate:

· India has a higher birthrate than France.

· France has a lower birthrate than India.

(c) Difference in Longevity:

· France has access to better healthcare than India.

· India has limited access to healthcare.

· The population of France has greater access to agricultural products necessary for survival       than India (carrying capacity, malnutrition, starvation).

· The population of India has less access to agricultural products necessary for survival than France (carrying capacity, malnutrition, starvation).

· France has better access to clean water (sanitation) than India.

· India has limited access to clean water (sanitation).

· Other acceptable responses
3-Point Rubric:
Score 3

The response describes a difference in individuals of reproductive age, a difference in the birthrate, and identifies a factor that may contribute to differences in longevity.

Score 2

The response describes a difference in individuals of reproductive age and a difference in the birthrate, but fails to or misidentifies a factor that may contribute to differences in longevity.

-or-

The response describes a difference in individuals of reproductive age and identifies a factor that may contribute to differences in longevity, but fails to or incorrectly describes a difference in the birthrate.

-or-

The response describes a difference in the birthrate and identifies a factor that may contribute to

differences in longevity, but fails to or incorrectly describes a difference in individuals of reproductive age.

Score 1

The response describes a difference in individuals of reproductive age, but fails to or incorrectly

describes a difference in the birthrate and fails to or misidentifies a factor that may contribute to

differences in longevity.

-or-

The response describes a difference in the birthrate, but fails to or incorrectly describes a difference in individuals of reproductive age and misidentifies a factor that may contribute to differences in longevity.

-or-

The response identifies a factor that may contribute to differences in longevity, but fails to or incorrectly describes a difference in the individuals of reproductive age and in the birthrate.

Score 0

The response provides little or no correct information.

Sample Student Responses: 

Response #1:  (3)

a) There are fewer individuals of reproductive age in France compared to individuals of the same age in India.  In France, there are approximately 22.5% of people at that age, compared to 25% of people at that age in India

b) The birth rate is much higher in India than it is in France.  Approximately 26% of India’s population is made of children whereas 14% of France’s population is made of children. 

c) One factor that may contribute to the difference in longevity is the quality and abundance of food available to the people.  

Response #2: (2) 

A) India has many more individuals in that age

B) India was having more kids (0-5) than France.  The Indian birthrates was about a total of  13.5% of population. 

C) The environment in which these 2 groups of people live in.  

Response #3: (1) 

a) In France there were the same amount of males and females from 15-45.  In India there were more males and females that were younger than older. 

b) There are about 68% of males and 65% of females for the birthrate in India.  In France there is about 38% of males and 35% of females for the birthrate. 

c) In India more people are born and start to leave as they get older where as in France the population stays constant and people stay.  

Response #4: (0)

a) Both decrease

b) Increase in both

c) The percentages

Response #5:  (2)

The difference in population of people age 15-45 in India + France is that India’s numbers got gradually smaller as the people got older.  Frances numbers were more random.  Also, the birthrate of India is much higher than of France, 6 - 7% of Indias population is children ages 0-5.  Frances has only 3 – 4 %.  

Response 6:  (1)

a. There seem to be many more 15-45 year olds in India than in France. 

b. The birth rate in India is much less steady in India whereas in France it is more constant. 

c. One factor that could affect lifespan is the carrying capacity of the country.  

Response 7:  (3)

In France the amount of people in the reproductive stage is very stable and even while in India as the people get older in the reproductive stage there are less and less of them.   This means that in India there are more people entering the reproductive stage than there are leaving it.  This is most likely why India’s birthrate is much higher than France’s, as well as why it will continue to become higher.  France maintains longer life spans most likely because they have a clean water system as well as many new technologies in medicine that India does not have.   

Respone 8:  (0)

India is like a pyramid and France is all over the place.  

India’s birthrate goes lower as the age gets higher.  France is all over the place. 

The climate in which the people live.  

